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int a[10], x;

int *pa;

pa = &a[0]; /* pa: pointer to address of a[0] */

X = *pa; [* x = contents of pa (a[0] in this case) */
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pa=a; :2IND7 VIYO TWON
pa=&a[0]; ‘DIPN]
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for(i=0 ; i<n ; i++)
“(pa+i)=1;

for(i=0 ; i<n ; I++)
pa[i]=1;
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TWwnn T Yo nR Xh v - grades[1][3] = 79;

int i,);
for (i=0; i1<2; i++)
for (j=0; j<4; |++)
gradeg|i][j] *= 1.05;
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int no[20], X, y;

int *1ptr[10];

1ptr

1ptr

ptr[2
3]
4

1ptr

iptr[4]=i
5]

1ptr

0]
1]

= &X;
= &no[3];

] =no+35;

*1ptr[S]=17;
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struct human {

char f_initial,|_initial;
int age;

float height; };
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struct human TR;

TR.f initial = ‘T";
TR.I_initial = ‘R’
TR.age = 18;
TR.height = 1.82;

I=TR.age;
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typedef struct human Human;

HUMAN TR;
HUMAN *h_ptr = &TR;

n_ptr->t_initial = ‘T;
n_ptr->i_initial = ‘R’;
n_ptr->age = 18;
n_ptr->height = 1.82;




HUMAN makehuman(char fi, char li, int age, float h)
{

HUMAN temp;
temp.f_initial=fi;
temp.l_initial=li;
temp.age=age;
temp.height=h;

return temp;



struct comp { float real;
float imag; };

struct comp add(struct comp a , struct comp b)
{

struct comp c;

c.real=a.real+b.real;

c.imag=a.imag+b.imag;

return c;

}

struct comp a={1,0},b={0,1},c=add(a,b);



